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1. Per IAS 2, how should unallocated fixed overhead costs be treated?
(A) Allocated to finished goods based on ending balance in the account.
(B) Allocated to work in process based on ending balance in the accounts.
(C) Recognized as cost of goods sold in the period in which they are occurred.
(D) Allocated to work in process, finished goods and cost of goods sold based on ending
balance in the accounts.
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3. Staples Company’s accounting records indicated the following information:

Inventory, 1/1/13 $ 500,000
Purchases during 2013 3,000,000
Sales during 2013 3,700,000

A physical inventory taken on December 31, 2013, resulted in an ending inventory of
$525,000. Staples’s gross profit on cost has remained constant at 25% in recent years.
Staples suspects some inventory may have been taken by a new employee. At December
31, 2013, what is the estimated cost of missing inventory? (A)$15,000 (B)$175,000
(€)$200,000 (D)$185,000.

4. In accordance with IAS 36, long-lived assets are required to be tested for impairment

(A) At the end of reporting period, every three years.
- (B) When the asset is fully depreciated.

(C) When circumstances indicate that carrying amount of an asset might not be
recoverable.

(D) At the end of each reporting period.
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> On January 1, 2011, Burberry Company issued a convertible bond with a par value of
$50,000 in the market for $60,000. The bonds are convertible into 6,000 ordinary shares

of $1 per share par value. The bond has a 5-year life and has a stated rate of 10%

payable annually. The market interest rate for a similar non-convertible bond is 8%.

Instructions (Round amounts to the nearest dollar) |

(a) Prepare the Journal entry to record the issuance of the convertlble bond on]J anuary 1,
2011. (5%)

(b) Assume that the bonds were converted on December 31, 2013. Prepare the journal
entry to record the conversion on December 31, 2013. Assume that the accrual of
interest related to 2013 has been recorded. (5%)

(c) Assume that Burberry repurchases the convertible bonds on December 31, 2013 for
a cash $55,000. The fair value of the liability component of the bonds is determined

- to be $54,000. Prepare the journal entry to record the repurchase on December 31,
2013. Assume that the accrual of interest related to 2013 has been recorded. (5%)

(d) Assume that the bonds matured on December 31, 2015. Burberry alter the terms
such that the bonds can be converted into 7,000 shares, instead of 6,000 shares as
under the original conversion terms. All bonds are converted and the market price at
the date of amendment is $8 per share. Prepare the journal entry to record the
induced conversions on December 31, 2013. (6%)

. 8% 10%
N PVF PVF-OA PVF PVF-OA
0.92593 0.92593 0.90909 0.90909
0.85734 1.78326 10.82645 1.73554
0.79383 2.57710 0.75132 2.48685
0.73503 3.31213 0.68301 3.16986
0.68058 3.99271 0.62092 3.79079
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& ~ L'oreal Company purchased machinery‘ for $1,500,000 on July 1, 2015. It is
estimated that it will have a useful life of 5 years, and zero residual value. The
sum-of-the-years’-digits method of depreciation is being used. On June 30, 2017,
L'oreal Company exchanged the machine plus $100,000 in cash for an equipment
used in the operations of Scotch Company. The fair value of L'oreal’s used machine
is $550,000. Assume that depreciation expense on the machinery has been recorded

‘up to the date of the exchange.

Instructions
(a) Prepare the journal entries on the book of L'oreal Company. Assume that the
exchange lacks commercial substance. (5%)
(b) Prepare the journal entries on the book of L'oreal Company. Assume that the
exchange has commercial substance. (5%)




